03. Search APl using NestClient
@ NestClient , .

® . https://www.elastic.co/guide/en/elasticsearch/client/net-api/7.x/introduction.html
® : https://github.com/psmon/searchapi/blob/master/SearchApi/Services/Searchindex.cs

public async Task<i nt> Rei ndexAll ()

{
await _elasticdient. Del et eByQueryAsync<SearchGoods>(q => g. MatchAll ());
var all Goods = await FindAll();
foreach (var itemin all Goods)
{
/1
itemterns = $"{itemnanmeKr} {item categoryl} {item category2} {itemcategory3} {itemterms}";
await _elasticdient.|ndexDocunent Async(iten);
}
return all Goods. Count ;
}
2.
® 1 (Upset)
* 1
1
Sear chGoods item= new Sear chGoods
{
sonet hi ng1="",
sonet hi ng2="",
}
I, ID Search.
/I 1D

var searchResponse = await _elasticdient. SearchAsync<Sear chGoods>(sd => sd
. I ndex(_i ndexNane)
. Size(1)
.Query(q =>¢q
.Match(m=> mField("id").Query(itemno. ToString())

)));
var hitlds = searchResponse. Hi tsMetadata. Hits. Sel ect (h => h.1d);

await _elasticdient. Updat eAsync<Sear chGoods>( Docunent Pat h<Sear chGoods>. I d(hitlds.First()), descriptor =>
descri ptor
. I ndex(_i ndexNane)
/1. DocAsUpsert () -,
.Doc(item
)

, View 0.


https://www.elastic.co/guide/en/elasticsearch/client/net-api/7.x/introduction.html
https://github.com/psmon/searchapi/blob/master/SearchApi/Services/SearchIndex.cs

public async Task<i nt> Updat el ten{SearchGoods iten)
{

await _elasticdient. Updat eAsync<Sear chGoods>(itemno, u => u.Doc(iten));

await _elasticdient. Updat eByQueryAsync<SearchGoods>(u => u
.Query(q =>q
.Match(m=> m
.Field(p => p.goodsNo)
. Query(item goodsNo)
))
.Script($"ctx._source.price = {itemprice}")
.Conflicts(Conflicts.Proceed)
.Refresh(true));

awai t _searchRepository. SaveChangesAsync();
return O;

public async Task<SearchResult> FindByFilter(SearchFilter filterOpt)

{

var result = new SearchResult();
int page = filterOpt.paging == null ? 0 : filterOpt.paging. page;
int limt = Math.Mn(100,filterOpt.paging == null ? 10 : filterOpt.paging.limt);
/] Pagi ng
var searchDes = new SearchDescri pt or <Sear chGoods>()

. From( page)

.Size(limt);
/] Sort
var sortDescriptor = new SortDescri ptor<SearchGoods> ();

..... Sort
sear chDes = searchDes. Sort( s=>sortDescriptor);
IIFilter
var filters = new Li st <Func<QueryCont ai ner Descri pt or <Sear chGoods>, QueryCont ai ner>>();
..... Filter

searchDes = searchDes. Query(q=>q

.Bool (bg => bqg.Filter(filters)));
var engine_result = await _elasticdient.SearchAsync<Sear chGoods>(sear chDes);
result.list = engine_result.Docunments. ToLi st <Sear chGoods>();
result.total = (int)engine_result. Total;
result.size = result.list.Count;

}
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if(lstring.IsNull OrWiteSpace(filterOpt.sort?.price))

if (filterOpt.sort.price == "desc")
{
sortDescriptor.Field(f => f.price, Nest.SortO der.Descending);
else if(filterOpt.sort.price == "asc")
{

sortDescriptor.Field(f => f.price, Nest.SortO der.Ascending);
}

if ( !String.lsNull O WiteSpace(filterOpt.filters?. categoryl) )

{
filters.Add(fq => fqg. Match(t =>t.Field(f => f.categoryl). Query(filterOpt.filters.
categoryl)));
}
/IPrice
if (filterOpt.filters?.minPrice >0 & filterQpt.filters?. maxPrice > 0)
{
filters. Add(fq => fg. Range(c => ¢
. Narme( " naned_query")
. Boost (1.1)
.Field(p => p.price)
. GreaterThanOrEqual s(filterOpt.filters. mnPrice)
.LessThanOrEqual s(filterOpt.filters. maxPrice)
. Rel ati on( RangeRel ati on. Wt hi n)
));
}
Text (terms)
/1 Query
if (I'String.lsNull OrWiteSpace(filterOpt.keyword))
{
var keywords = filterOpt.keyword. Split(" ");
filters. Add(fq => fqg. Terns(t =>t.Field(f => f.terns). Terms(keywords)));
}
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Link

® https://ojava.tistory.com/129 -
L]

® https://gbox.io/blog/how-to-download-all-unique-terms-field-elasticsearch
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